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Fart A: Vocabulary

Directions: Choose the word or phrase (1), (2}, (3), or {4) that best completes each

sentence. Then mark the correct chofee on vour answer sheet.

Currently 80 percent of drugs are shot down in early clinical trials because they are mot
effective or are even —--——-.

1} intense 23 initial 1) Ioxig 4] pror

With such rapid advances in the field of human transplantation, researchers such as mysell
are now beginning to consider what some have previously unthinkable: transplanting
s human brain.

1y decmed 21 pursued 1) perplexed 4} excluded
Weather forecasters are a frequently humbled bunch. Mo matter how far their science
advances, the atmosphere finds wavs to ——--——- prediction.

I} underdie 2y defy 3} enpose 4] strive
Many armed Erowps =-——-- mix with the popuolation to aveid identification. Sometimes they

aciually use civilians as shichds.

|} inherently 2} coincidental Iy 3) persuasively 4} deliberanelv

After receiving @ phone call thai 4 bomb had beea planted somewhere in the hotel, Palice
ordered the of the building.

I} resisanee 2 evacuation 3y authority ay invalidity
Cosmologists, however, can make —-——--- about the em%' universe based on the cosmic
microwave background radiation, which was emitted about 400,000 years afler the big bang.
L) concessions 2y ramifications 3} foundations 4) deductions

The fact that there are many earth-like planets in the universe supports the widely held view
that life —--—--—- the universe.

17 pervades 2y mnovares Jyexemplifies d ) overlaps
Centuries before the development of effective cannons, huge artillery pieces were demolishing
castle walls with - the weight of an upright piana.

1] estimations 2y ensembles 3) barricades 4) projectiles

Peaple in their late His or older are often healihier and more —=-——-— than those 20 years
YOUBZEr,

b ocivil 2} durahble 3 ) rabust 4} coneurrent

10- One of the Ffrst prominent geologists to raise concerm that global warming might

m——mee= i CAtASTEORhIC ©0l ]Jw.- of the Antarctic ice cap was ). H. Mercer.
b3 trigger 21 nigate 3 exceed 4) replace

Part B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

o, Then mark the correct choice on vour answer sheet.

ur hunt for caloric restriction mimetics grew out of our desire to better understand caloric
restriction’s many effects on the body. Scientists first recognized the value of the practice more
than 60 years ago, when they found that rats (11) ——---—- 2 low=caloric dict lived longer on
average than free-feeding rats (12) ——-——- a reduced incidence ol conditions (13) =-——---,
What is more. some of the treated animals survived longer than the oldest-living animals in the

control grou

{14) sesemee=e that the maximum life span (the oldest atnainable age), not merely

the average Ifil'& span, increpsed. Various interventions, such as infection-fighting drugs, can

increase (13) ==, but only approaches that slow the body's rate of aging will increase the
maxirmum life span.

11-1) feed 2) they were fed 3) fed 4) feeding

12-1) to have 2) had ) in having 4y and had

13- 1) in old age they became increasingly common

1) that become increasingly common in old age
3) becoming common in increasingly old age
4) they became in old age increasingly common

14- 1) which means 2) but means 3) it means 4) what it means
15- 1) the average time in survival population 2} a survival population average time

3} a population’s average survival time 4) the survival lime in average population
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Part C. Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3} or (4).
Then mark it on your answer sheet

PASSAGE |

A cradle is an agricultural tool, a form of the scythe, used (o reap grain. It is a scythe with an
arrangement of fingers attached to the snath, such that the cut grain falls upon the fingers and
can be cleanly laid down in a row for collection. As agriculture developed, the end of a season
was the harvest. Grain could be pulled or, more typically. cut and the sickle was the usual 1ool,
leaving sheaves of grain to be gathered, The scythe improved the process, because the long
handle allows the reaper to work standing up. Reaping with a scythe before the invention of the
cradle readily resulied in the grain forming a muddled carpet on the field, making gathering
and transport time-consuming. Also it had the anticipation of a scythe and a axe. The center of
interest in this agricultural tool was the American Midwest, where grain growing was a major
industry. United States patents in the decades from 1820 to 1930 totalled 50, the first issued in
1823 to a gentleman in western New York state and the last issued in 1924 to a gentleman in
West Virginia. The peak of innovation was in the third quarter of the 19th century. The cradle
was commonly used throughout the [800s and into the beginning of the 20th century, in parl
because many of the smaller farms were not designed for mechanical reaping and in part
because there were still a great number of smaller farms where the mechanical reaper was not
economical. However, by the end of the 19th century the cradle had been generally replaced by
the mechanical reaper, & horse-drawn (or tractor-drawn) machine patented by Cyrus
McCormick in 1834, and later by other mechanical methods of harvesting such as the combine
harvester,

16, The passage points to the fact that.................
1. grain is collected in five-ling rows 2. fingers attached to the snath form a scythe

3. scythes are oficn used to reap prain 4. sickles are less efficient than scythes

17. We can understand from the passapge thal...ccin

1. seyvthes and axes were the firsi tools for harvesting

2. even smaller US farms may be designed for mechanicel reaping today
3. it is expensive to gather sheaves of grain mechanically

4, grain transport is usually more time-consuming than grain gathering

18. We can conclude from the passage that........ R

|. agriculture in western New York state was run mostly by gentleman farmers
2. the cradle was used in the American Midwest throughout the 20" ¢.

3, more patents for agricultural tools were registercd in 19" ¢, than 20™ ¢, U5
4, grain growing is the most important industry in the American Midwest

19. The passage best implies that.............

I, farming in the Midwest was not quite economical in the 18" ¢.

2, the combine harvester was almost invented in 1834

3. the mechanical reaper had already been in use the 1800s

4, tractor-drawn machines are, in lact, advanced mechanical reapers
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20. The word *snath’ in the passage (underlined) is closest (0.,

1. *handle’ 2, *blade”
3. *hammer’ 4. “axe'
PASSACGE 2

Economic liabiliies [or indusirial agriculture include the dependence on finie non-
rencwable fossil fuel energy resources, as an input in farm mechanization (equipment,
machinery), for food processing and transportation, and as an input in agricultural chemicals. A
future increase in energy prices as projected by the International Energy Agency is thercfore
expected to result in increase in food prices: and there is therefore a need to 'de-couple' non-
rencwable  encrgy  usage from  agriculiural production. Other  ligbiliies  include peak
phosphate as finite phosphate reserves are currently a key input into chemical fenilizer for
industrial agriculture. Industrial agriculiure uses huge amounis of water, energy. and industrial
chemicals; increasing pollution in the amble land, usable water and atmosphere,

Herbicides, insecticides, fertilizers, and animal waste products are accumulating in ground and

surface waters. Many of the negative effects of industrial agriculiure are remole from fields and
farms. Nitrogen compounds from the Midwest, for example, travel down the Mississippi 1o
degrade coastal lisheries in the Gulf of Mexico. But other adverse effects are showing up
within agricultural production systems - for example, the rapidly developing resistance among
pests is rendering our arsenal of herbicides and insecticides increasingly ineffective. Chemicals
used in industrial agriculture, as well as the practice of monoculture, have also been implicated
in Colony Collapse Disorder (CCD) which has led to a collapse in bee populations.
Agricultural production is highly dependent on bee pollination to pollinate many varieties of
plants, fruits and vegetables, A study done recently concludes that industrial agriculture is
associated with substantial deterioration of human living conditions in nearby rural
communities. Future increase in food commoedily prices. driven by the energy price rises
under peak oil and dependency of industrial agriculture on fossil fuels is expeeted 1o lead 1o
increase in food prices which has particular impacts on poor people.

21. We understand from the passage that.....c....... i

1. farm mechanization reduces the need for off-site food processing and transportation
2. International Energy Agency has recently announced an increase in food prices

3. non-renewable fossil fuel energy resources are used to develop agricultural chemicals
4. industrial agriculture is at present heavily dependent on non-rencwable energy usage

22, It is mentioned in the passage that. ..

1. fields and farms very far from industrial agriculture sites may sufTer through it
2. industrial chemicals arc a source of pollution in land, water and atmosphere

3. animal waste products produce more water pollution than most herbicides

4. chemical fertilizers arc ofien phosphate-based highly pelluting combinations

1%, The pussage points to the fact that......conne

1. bee pollination is a key feature of industrial agriculture in rural communities
2. poor people have suffered most by the application fossil fuels in agriculture
3. villages near industrial agriculture sites are heavily negatively affected by it
4. lisheries in the Gulf of Mexico feed on nitrogen compounds in the Midwest
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24, Tt is stated in the passage that....c.oun

1. herbicides and insecticides are largely ineffective in today s agriculture
2. CCD is partly the result of the use of chemicals in industrial agriculture
3. food commodity prices have a role in cnergy price rises under peak oil
4, animal waste matter accumuilate largely in ground and surface waters

25, The word *arsenal’ in the passage (underlined) is originally related to...............

1. weapons 2. buildings
3. plants 4. flocks
PASSAGE 3

A threshing board is an obsolete farm implement used 1o separate cereals from their straw; that
is, o thresh. It is a thick board, made with a variety of slats, with a shape between rectangular
and trapezoidal, with the frontal part somewhat narrower and curved upward (like a sled or
sledge) and whose bottom is covered with lithie flakes or razor-like metal blades. One fiorm,
once common in the Mediterrancan Sea area, was about three to four feet wide and six fect
deep, consisting of two or three wooden planks assembled 10 one another, of more than four
inches wide, in which several hard and cutting flints crammed inio the bottom pari pull along
over the grains. In the rear part there is a large ring nailed. that is used to tie the rope that pulls
it and to which two horses are usually hamnessed; and a person, sitting on the threshing board,
drives it in eircles over the cercal that is spread on the threshing floor. Should the person need
more weight, he need only put some big stones over it. The dimensions of threshing boards
varied. In Spain. they could be up to approximately two metres in length and a metre and a hall
wide, There were also smaller threshing boards, as little about a metre-and-a-half long and a
metre wide. The thickness of the slats of the threshing board is some five or six centimeters.
Nonetheless, since threshing boards are nowadays custom made, made to order or made
smaller as an adornment or souvenir, they may range from miniatures up to the sizes previously
described. The threshing board has been traditionally pulled by mules or by oxen over the
prains spread on the threshing floor.

26. We can understand from the passage that e

1. the lithic Nakes at the bottom of a threshing board were very sharp

2. a ring was attached to cutting flints at the bottom of threshing boards
3. the threshing floor is pulled by the rope on top of its wooden planks

4, early threshing boards were made up of four-inch wide wooden planks

27. The passage suggests that....ue.

1. Mediterranean threshing hoards were ofien squarc-shaped
2. there are some big stones on top of big threshing boards
3, threshing boards were commonly at most two metres long
4, Spanish threshing boards could be exceptionally large

28. We understand from the passage that........ P

I. threshing boards are nowadays custom made or made to order
2. large threshing machines were driven by as many as four horses
3. threshing boards and threshing floors are companion pieces

4. there were five or six thick slats on a typical threshing board




P asis 628F

19, The passage best points to the fact that...ceem.

1. threshing boards today are normally pulled by tractors

2. the threshing board can be larger than the older models
3. a person spreads cereal in circles over the threshing floor
4. threshing borads are used for decorative purposes today

30. The word *‘trapezoid’ in the passage (underlined) best refers to a geometrical shape

|| | | F——
1. six sides of equal lengths 2. only two sides parallel
3. sides of varying lengths 4. no sides parallel
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